Practice Problems...
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#14, 15, 16, 19,'20 a, b, 21,22, 23, 24, 25, 26, 27
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Warm Up

A basketball rolling across the floor completes 75 revolutions per minute. The linear
velocity of the basketball is 2.5 m/s. Find the radius of the basketball and its angular

velocity. 2

'5../
\ Ly 75.%‘”‘)‘ 7-"-&('
I&V
- ISOWEQJA“ "hn

=7 95&[/‘?« ob‘
0 Athe (Lo ..




Reference Triangles:

Definition 17 The reference angle 6 of an angle 6 in standard position is the
acute angle (between 0 and 90°) the terminal side makes with the z-axis.

The picture below illustrates this concept.

yi

0 X

What is the significance of reference angles?



Angles on the Cartesian Plane

Notice what will happen
if the rotation moves into
other quadrants?

Reference Angle - an acute angle formed between
the terminalarm and the x-axis.

Reference Triangle - a triangle formed by drawing a

perpendicular line from a point on
the terminal to thex-axis.

TRIG RATIOS on the CARTESIAN PLANE
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TRIG RATIOS IN ALL 4 QUADRANTS

What primary trig ratios are POSITIVE in...

11 I




cos ©)
If secd =10 and siné > 0 determine the value of csc 8
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Example

Determine the measure (in radians) of an angle whose terminal
arm passes through the ordered pair (_2J§ - 4)
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